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1. Which one of the following elements is
used as a [imekeeper in atomic clocks?

) Potassium
fbl Caesiom
] Calcium

{d] Magnesium

2. Which one of the following elements is
involved in the control of water content
of the blood?

[l Potassium
/Bl Lathium
fe)  Rubidium

{dl Caesium

3. Which one of the following gases
digssolves in  water to ghe acidic
solution?

fa) Carbon dioxide
b} Oxygen
fe)  Nitrogen
) Hydrogen
4, Which one of the following elements is

essential for the formation of chlorophyil
N green plants?

fal Calcium
b} TIren

e} Magnesium
idl Potassium
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5. Consider the following chemical

reaction

aFe 404 (8] + BCOE) = cFe s} + dCO,
In the balanced chemical eqguation of
the above, which of the following will be

the values of the coefficients a, b, c and
d respectively?

@ 3,231
b} 1,3.2.3
ol 2,8 3,1
@ 3,3 2 1

6. Why iz argon gas used along with

tungsten wire in an electrie bulb?

fal To increass the life of the bulb

B} To reduce the consumption of
electricity

{2} To make the emitted light colored

{d] To reduce the cost of the bulb

7. Which one of the following is the correct

relation between the Kelvin temperature
(T] and the Celsius temperature [{:)7

fal These are two independent
temperature scales

b T=t,
o) Tw=t, -273-15
) T=t,+273-15

8. Bound waves cannot travel through a

fa} copper wire placed in air
&} silver slab placed in air
fc)  glass prism placed in water

{d} wooden hollow pipe placed in
VEICLILLITE
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9. Whirh ane of the following is the value of

one nanometer?
f@l 1077 cm
b} 107% om
el 107" ocm

idf 107% em

10, Consider the fellowing statements |

1. ‘There is no net moment on a body
which ig in equilibrium.

2, The momentum of a boedy 1= always
conserved.

3, The kinetic energy of an chiject is
always conserved.

Which of the statements given above
isfare cormect?

jal 1, & and 3
Bl 2 and 3 only
joj 1 and 2 only

fd} 1 only

11. Working of safety fuses depends upon

I. magnetic effect of the current
2. chemical effect of the current
3. magnitude of the current

4,  heating effect of the current

Zelect the correct answer using the code
given below,

faf 1,2, 3 and 4
fb) 1, 2 and 3 only

fel 3 oand 4 only
fdl 4 enly
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HMrections :

The following sewen [T) items conaist of two

statements,

Staterment | and Statement 1.

Exsmine these tao statements carefully and

select
helaw,

12.

13.

14,

the correct answer using the code given

Code -

fa} Both the statements are
individually true and Staterment 11
iz the comrect explanation of
Statement [

&} Both thie stalemernta are
individually true but Statement [
iz not the correct explanation of

Statement |

2]  Statement | is true but Statement [1
iz false

{d) Statement ] is false but Statement [1
is true

Statement [ ;

By far the most common topographic

form in a Karst terrain is the sinkhole,
Statement [1 :

Topographically, a sinkhole i3 &

depression that varies in depth from

less than a meter to few hundred
meters.

Statement 1 ¢

Incised meanders are formed n the
mature stage of a river.

Swatement 11 ;
Incised meanders are characterized by
rejuvenation and uplifiment of land.

Statement |

Porfions of glacizal troughs may exhibit
remarkably flat floors.

Statement I ;
The flat floor in a glacial trough 1s
produced by uniform glacial erosion

| B.T.O.
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15.

16.

17.

18,

Statement 1 :

In Tundra chmate,
comparatively less.

biodiversity is

Statement 11

Tundra climate has less reproductive
warm period.

Statement [ @
Tides are the rise and fall of sea levels
caused by the combined effects of the
gravitational forces exerted by the
Moon and the Sun and the rotation of
the Earth.

Statement 11 ¢
The Earth rotates from west (o east

Statement 1 @
A person mav suffer from tuberculosis
if she/he frequently wisits crowded
place,

Statement I1 :
Bacteria of tuberculosis spread
through droplets by sneezsing or
coughing,

Statement [ :

Bicaccumulation is a process of
progressive  accumulation of heavy
metals and pesticides in an organism.

Rtatement 1T :

Large fishes of the pond are found to
have higher concentration of pesticides
then planktons of the same pond.
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19,

Which one of the following I8 a tnie
fish as per the biological system of
classification?

fa) Silverfish
() Jellyfish

fc] Cuttlefish
fd] Flying fish

20. In which one of the following types of

connective tissues in animals does fat
get stored?

fa) Adipocyte
fb) Chondrocyte
fc) Osteocyte

fd] Reticulocyte

Z1. Which one of the following pairs about

organ/part that helps in locomotion 1s
not correctly matched?

fal Euglena Flagellum
fbl Parameciuin Cilia

fc) MNereis Pscudopodia
{d) Starfish Tubefeet

22. Lysosome is formed fom which of the

following cell organclles?
fa) Nucleus

(B! Endoplasmic retieulum
fc/ Golgi bodies

{cdl Ribosomes

[ P.T.O.
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23. A protein is synthesized i the
endoplasmic reticulum bound
ribosomes and it targets to the inner
thvlakoid space of chloroplast. How
many double-layered membrane layers
it has to pass to reach its destination?

@) 2
bl 3
el 4

e} 3

24. Which of the following causes adiabatic
temperature changes in atmosphers?

fa} Deflection and advection
fb) Latent heat of condensation

je) Expansion and compression of
the air

jd) Partial absorption of solar radiation
by the atmosphere

25. Which one of the following is applicable
te collision-coalescence process of
precipitation?

fa) Clouds which do not extend hevend
the freszing level

fb} Clouds which extend beyond the
freezing level

fe) All types of clouds

fd] Cirrocumulus cloud
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26. Which ene of the following places of
Indin experiences highest atmospheric
pressure during winter?
fa} Jaizalmer
b} Leh

fel  Chennai

fdl Guwahati

27. Match List-I with List-11 and select the
correct answer using the code given
helow the Lists -

Lisf-] List-IT
{Hypothesis/ Theory) {Prapeunder
&, Planectesimal hypothesis 1. Kober
B. Thermal coniraction 2. Chamberlin
theory
C. Geosynelinal Orogen 3. Daly
theory

D. Hypothesis of sliding 4. Jeffreys
continent

Conele

i} A B € D
2 4 1 3
b A B c )
2 1 4 3

d A B C

g

| P.T.0.
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28. Bright light 18 found to emit 31. Which one of the following elements will

from  photographer's flagshgun, ‘This be an isobar of calcium if the atomic
brightness is due to the presence of number of caleium is 20 and its mass
which one of the following noble gases? number iz 407
fal Element withh 20 protons and
ol o 18 neutrons
(bl Xenon (b Element with 18 protons amd
19 neutrons
fe}  Neon
je} Element with 20 protons and
fd) Helum 19 neutrons
{d) Element with 1B protons and
29. Which ene of the following is not a 22 neutrons
characteristic of a compound? A32. Which of the following represents a

fa) Composition is variable. relation for "heat last = heat gained?
fa} Principle of thermal equilibrium
b} Principle of colors

el Principle of calonmetry

jed} Principle of vaporization

fb) All particles of compound are of
enly one type.

fe) Particles of compound have two or
maore elements,
33. Two metallic wiree made from copper

(d] Its constituents cannot be have same length but the radius af
separated by simple physical wire 1 is half of that of wire 2. The
methoda,

resistance of wire 1 s B H both the
wires are joined together in series, the

30. Which of the following substances cause total resistance becomes
temporary hardness in water? fal 2R
K
1. Mg{HCO;)5 i) 2
2. CaHCO;), . 5 -
3- EE:\IE %
3
4. Mg30, fed) ER
Select the correct answer using the code 34. When the Sun is near the horizon during
given below. the momning or evenmg, it appears
reddish. The phenomenon that is
ja) 3 and 4 responsible for this cbservation is
b 2 and 3 fa) refllection of light
(b refraction of light
fej 1 and 4 jo) dispersion of light
fdl 1 and 2 fd} scattering of light
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38. Match List=] with List=]1 and select the

=

correct answer using the code given
below the Lists :

Last-1 List-If
fCloud) {Characteristic)
Cirrus 1. Rain-giving
Stratus 2, Feathery appearance
MNimbus 3. Vertically growing
Cumulus 4. Horizontally spreading
Code :
fe}] A B c 5]

3 1 % 2
by A JE] iC | K]

2 1 e ] A
fcf A B 2 D

2 4 1 |
fdi A B & ]

3 4 1 2

36. Which one of the following is met an

exclusive right of the concerned coastal
nations over Exclusive Economic Zone
(EEZ)?

fal Survey and exploitation of mineral
resources of ocean deposits

b Exploitation of marine water energy
and marine organisms including
fishing

el Conservation and management of
MArine resourcss

jd} Nawvigation of ships and laving

down submarine cables

&

SP3S-D-XHI/49A
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In which one of the lollowing groups of
States in India is the Integrated Coastal
Zone Management (ICEM] Project being
implemented as a pilot investment?

fa} Gujarat, Kerala and Goa

b Kerala, Karnataka and Andhra
Pradesh

fo)  Gujarat, Odisha and West Bengal

{d}] Maharashtra, Andhra Pradesh and
Tamil Madu

38, Which of the following statements about

the MNMNational

is/are correct?

1. The pramary objective of the NWA is
to function as Centre of Excellence
in training for in-service enginesrs
from Cenfral and State organiza-
tions om various aspects of water
resource planning,

2, The NWA is located in New Delhi

Water Academy [NWA)

Belect the correct answer using the code
given below,

fz) 1 only

f&} 2 only

fo Both 1 and 2
fd} MNeither 1 nor 2

39. A wire of copper having length I and

area of cross-section A is taken and a
current [ is flown through it. The power
dissipated in the wire is P. If we taks
an  aluminium wire heving same
dimensions and pass the same current
through it, the power dissipated will be

fa} P
B <P
el =P
[d) 2P

[ P.T.O.
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d) T W fd) 1-2-4-3
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40, The pressure of a fluld varies with 43. Extrusive volcanocs are mot found in

depth h as P=F; +pgh, where p is which one of the following mountains?
the fluid density. This expression is

associated with fa} Alaska

fa} Pascal's law B} Rocky

b MNewton's law fe}  Andes

fol  Bernoulli's principle (d) Himalayas

fd] Archimedes' principle
44. Which one of the following crops 15 not
cultivated in Karewas, the lacustrine

41, Consider the following constifuent gases deposits of sand, clay, loam, silt and

of the atmosphere ;

bouldera?
Le' g fa) Saffron
2, Meon
) Almond
3. Helium
4, Carbon dioxide . e
id} Limg nut
Which one of the following is the correct
ascending sequence of the above gases
in terms of the volume percentage? 45. Consider the following tributaries of river
Ganga :
o 1=k 1. Gandak
fb] 1-4-2-3 3. Kosi
{of 4-2-3-1 3. Ghaghara
fd) 2-4-1-3 4. Gomti
Which one of the following ia the correct
42, Which one of the fallawing Indian States arder of the shove rivers from east io
has the highest percentage of Scheduled west?
Tribe population to its total population?
fa] Mizoram fa} 3-4-1-2
i}  MNagaland fb) 2-1-3-4
fe) Meghalaya fc) 2-3-1-4
jd) Arunachal Pradesh (d 1-2-4-3

SPEE-D-XHI/4DA 18 [ P.T.C.



46, wm F Tofafes @ 3 S9-3 mim wow 48. i % =t §, Fefaian 4 & o-m T

(e %), UNESCO TR We Bamm i BT
(e ) =ifm T e B7
L. Fsiters mi wm o) witE, Ffmsh 4 & w % E@@ & wo
2, W TR T ol B
3. M I =
fb) T 4 % ®fied, S8 & RBC,

4. TEET WY e S &
A o T 3= T e = wd T

= sl ag fe) T FitHE wee w0 9 e giEE
fa) FE 1 a2 Py
(b} FA7 1, 2403
o) Em 3 34 () THE, FAA EE W A W8 w5 w0

¥
fd) 1,2 334

47. FE-1 F g % ww gt Fifm e 49, Wit & frefafe § 3 fen) R df e 3

el & A B T g W o = A I fiefta wag v &7
T
fa) T S I
-1 Hefi-11
(e ) (weaverT) (b TR A
A. T T |, T e e g
B smd 2. wEER
C. ufin me 3. TEER iy -
D. =hm am 4, FETEER
5 80. 79 waw &1 mwifEm §, Fefeiam 4 @
P e T @ a3 an it 37
4 3 2 1 fa) A e
B A B c D
4 2 3 1 (b} wEEtA
f# A B C D
1 a3 @ 4 fj  HreEiEE v
) A B C€C D
1 3 2 4 (d) TEFE
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46. Which of the following Mational Parks of 48. Which one of the following statements

India are declared as World Heritage by about lymph is correct?

UNESCO?

1. Keoladeo National Park fa) Lymph is formed due to leakage of
2. Sundarbans Natlonal Park blood through capillaries.

3. Kaziranga National Park (i) Lyvmph contains blood cells such
4, Ranthambore National Park as RBC.

Select the cormect answer uzing the code

: Selon foj Lymph is alse circulated by the
Eiven i

blood circulating heart.
jal 1 and 2 only

) 1, 2 and 3 enly

fel 3 and 4 only

{d] Lymph enly transports hormones,

jd) 1,2, 3 and 4 48, Which of the following classes of animala
has/have three-chambered heart?

47. Match List-1 with List-1l and sclect the

correct answer using the code given fa} Pisces and Amphibia
below the Lists :
List] Py fb} Amphibia and Repftilia
(Railivay Zonel {Headguarters)
[z}  Reptilia only
A, Morth Central 1, SBecunderabad
B. North Eastern 2. Jabalpur fd] Amphibia only
. West Central 3. Gorakhpur
D). South Central 4 Allahabad

B0, Accumulation of which one of the
Code @ following in the muscles of sprinters
leads to cramp?

) A B € D

* i 4 ; fa) Lactic acid
WA B C D

S (b} Ethanol
fel A B C ]

1 2 3 4 fe) Pyruvic acid
M A B C D

1 3 2 3 fd} Glacose
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51. fafmm smrfm fife (BTF) % =t 4, Frefafem 54. W1 WAT 4 AW ® ¥4 A AF0EAEE F

el 8 - ) 47 11 ffer =8 0 W E A A
goifes 7ed @9 4 W @ vE WwE FEw
fa) R T T G Y 2017 1 st i) T = e e
(b) T fem- o wEer T B # g Tt
fc) FEFE S5 Fo0 f ogEn d g
WA e 3 T s T (@)
I B b
() ETF % Fow smw fam oiwaf e, (b) iR
v foam & we w ouw am il
Al g &) fe) wfafeT
52. W dwm worel (NPS), Pt @ ¥ sl (d) =
NPS, # 98- ¥ sifirran s fsfafie § 4
-t &7
fa) 55 %4
55. foaffiem sl § & Fm-m/E wEn ==
b 60 YT 4 (IPPE) % it # wlt k)87
(e) 6574 1. @ = e fofes @ f
weaTiyn fem wn B
(d) 709

2. TEE W 9 e s, fete s

grodt, H ™ & = W T
N T I T g g — " et

T (PCR) W TH TEeih s (T
S W A T R T IREm, wie & T

2 S g e i T T g W EE w0 w I g
PCR Towftm & &% e s wos amim
({12 Bm) =1 g ¥ % o 21 o8 il & fa] ¥ 1
i R :
fa) HE TR (b ¥ 2
(b fammen 5
™ fe) 1 #w 2 EH
foi  #ITH FramTEA
(d) arfe THe TEEEEl fd) A1 admada
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51. Which one of the following statements 54. In October 2017, India sent its first

about Exchange-Traded Fund [(ETF) is ghipment of wheat to Afghanistan as
not correct? a part of commitment made by
the Government of India to supply
j@} Tt is & marketable security. 11 milion tonnes of wheat to that
g . country on grant basis, The shipment
b It experiences price changes was sent through
throughout the day.
el It typically has lower daily liquidity fa} Iran
and higher feea than mutual fund
shares. b} Pakistan
e} An ETF does not have its net asaet
value calculated once at the end of (e) Tajikistan
every day.
jd) Chma

B2. Which one of the following is the
maximum age of joining National

Pension System (NP3} under the NPS- B5. Which of the following statements about
Private Soctar? the India Post Payments Bank (TFPE)
isfare correct?
fa) 55 vears
1. It has been incorporated as a
fb) 60 years Public Limited Company.
fe} 65 years

2, It started its operation by
establishing two pilot branches at
@ Ty Hyderabad and Varanasi.

B3. The Reserve Bank of India has recently

Select the correct anawer using the code
constituted a high-level task force on e

Public Credit Reglstry (PCR) to suggest a s Tolow:
road map for developing a transparcnt,
comprehensive and near-real-time PCR
for India. The task force is headed by fa) 1 only
faj Sekar Karmam

fi} 2 only

fb) Vishakha Mulye

fe) Sriram Kalyanaraman fc} Both 1 and 2

fdi ¥. M Deosthalee fd] Meither 1 nor 2
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56. UEM WHEUER  WEm (NHRC) % w9

Frrfeftnn & & -0 7
1. WA s S g W, A 6
TEE T Fa- T3 %

2. " T ws oy TR wivw %
uR, WAt -gEaTE W

3. SEg & T o e & o oaEl wm
WHT

4. wE wiuwn & &9 8 e W e ae
aln wita &) T

it fam 2w wEm w ad T gk
ja) FEE 1302

{b) == 2, 3 34

) 1, 3 34

fdy 1,2, 34

57, Us =i woE & Fd ot wew w mew 6 &

fime oir wee &% o & 2 W & T s
e &, af = =i

1. YFA wEn aaw et e omER 3
AW T W v e e g A,
e i g oifte Rl o % ane
& W d ZEm I F s

s Femfem @
WA o wiEue s & seie
A FE T
4, ffm fmm amn & i w wm
AT g 3 A e e @
A4 fa e 52 = v = wh T g
fa) e 1, 2 o4
) 1,2, 3¥ma
fef a3 o
(d) %= 1, 2 303
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58. WidT fFEfe wrEn § s, = o @@

% w & o 79 % o oo i m o
T Tt & wremTTR T TE 6w R
B s 27

fa) *8-8-F5 T 72
fb) wE-#-wn R T
fci FE-T-FW =90 TR

(d) wm-t-wm e T

89, " snyA fafee & fuy 3, Pl

] 1 A W -a a8

faj W@ e i @ FEE fam ) ow
ST ] ¥

b g sty fam & wefe %
I ¥

fo} R WA vE ulET A OEEY F
ot FEm & and= )

id) T Tgm w ddafeh & of o=
ST T #

60. 47 FH F40 § waitE #E = we ki

8 % fiew b st i 3 fn mn 4
1. dtas s amen

2. N JErEe TEEEE e

3, i ow =

= T = wem = T g
fa) R 1 3 2

fB 1,233

fe) WAEE 233

) =9 3




B56. Which of the following are the functions

of the HNational Human Rights
Commission (NHHREC)?

1. [Ingquiry at its own initiative on the
violation of human rights

2. Inguiry on a petition presented to it
by a victim

3. Visit to jals to study the condition
of the nmates

4, Undertaking and promoting
research in the field of human

rights
Belect the correct answer uaing the code
given below,
fal 1 and 2 only
fb) 2,3 and 4 only
fe) 1,3 and 4 only
fdh 1,2, 3 and &4

B7. A person is disqualified for being chosen

as, and for being, a Member of either
House of the Parliament if the person
1. holds any office of profit under the
Government of India or the
Government of any State other than
an office declared by the Parliament
by law mot to disqualify its holder

2.  is an undischarged insolvent

3. is so disqualified under the Tenth
Schedule of the Constitution of
India

4. is of unsound mind and stands so
declared by a competent Court
Select the correct answer using the code

gwven below,

fal 1, 2 and 4 only
(b} 1,2, 3and 4
fef 3 and 4 only
fd) 1, 2 and 3 only

SPSS-D-XHI /404

58. According to the Election Commission of

India, in order to be recognized as a
MNational Party’, a political party must
be treated as & recognized political party
in how many States?

fa) At least two States
{B) At leagt three Slates
fe) At least four States
fd] At leaat five States

§9. Which one of the following statements

with regard to Antrix Corporation
Limited is correct?

fa] It s a commercial arm of the
Department of Industrial Policy and
FPromotion,

{bl Tt iz wunder the administrative
control of the Department of Space.

fej It ia under the administrative
control of the Ministry of Health
and Family Welfare.

fdil It iz a commercial arm of the
Department of Scicnoe and
Technology.

60. Verses ascribed to poef-saint Kabir have

been compiled in which of the following

‘traditions?

1. Bjjak in Varanasi
2.  Kabir Granthaval in Rajasthan
3. Adi Granth Sahib

Select the correct answer using the code
given below.

fef 1 and 2 only
fbl 1, 2 and 3
fel 2 and 3 only
fd} 3 only
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61, Il e % ww-um, v g i
Tt @ gf fosiasl = wn-Raim amw
ﬁrﬁﬁmt

1. 7% i farem & i P weh

2. Y qEnm W afEfEes e
C L

3, qﬂi‘iﬂ:ﬂ‘naﬁmﬁﬁﬂﬁﬁﬂnmﬁw
w1 T

= T e 2 = W W I g

fa) e 18R 2

(b) ¥am 2

fe) F=m113n3

fd 1,233

62, =T = 104 W=w 4, fafafaw 4 4 ¥h-m
s e -aaTE e we Ay

fal T4 qF
fb) T
fe) 9
fd) 3 g7
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63. HAAEAm e & a8, el = 8 8
W= TR

1. tes & el & wde el s
Tt o

2. wEm s wgwE A fr-mmm fe-enfa
&t unftert goeh e o

3. apm, e v oEm oW o 3 ol
Huam H o+ F vn 4 = fafem e
e

4. 1922 ¥ wwEn ¥ A S R
T W T AREA TOA0 WA T,
foms W T T W WEER W
Han g UWA W ol T W ol
& |

A o e W WA 3w gieg
fa) e 1

bl 1,2¥na

fo) 23Mm3

fd) FaA 2

64, 5= 2017 & 7 B 4 swfm e am

wiEn ‘Tl 58 W W - (B)
#m, freffiam § 4 -3 @

faj
(b =TH
fc} BT
fdj T



61. Around twelfth century, Sufi Silailas
began to crystallize in different parts of
the Islamic world 1o signify

1. continupus link betwesn the
master and disciple

2.  unbroken spiritual genealogy to the
Prophet Muhammad

3.  the transmission of apiritual powser
and blessings to devotees

Select the correct answer using the code
given below,

fa 1 and 2 only

fb) 2 omly

fc/ 1 and 3 only

fd 1,2 and 3

62, In the 10th Mandala of the Rigreda,
which cne of the following hymns
reflects upon the marmage ceremoniss?

fal Surya Sukia
{b  Purusha Sukia
fe] Dana Stutis

{dl Uma Sutra

SP35-D-XHI/49A 23

63. Which of the following statements about

the Non-Cooperation Movement 1s/are
correcty

It was marked by significant
participation of peasants from
Earnataka.

It was marked by non-Brahmin
lower caste participation in Madras
and Maharashtra.

It was marked by the lack of labour
unrest in places like Assam, Bengal
and Madras.

It was badly shaken by the Chauri
Chaura incident in 1922 after
which Gandhiji decided to continue
with the movement on a much
gmaller scals,

Select the correct answer using the code
given below,

fa}
(&)
fe)

1 omiy
1, 2 and 4
2and 3

fd] 2 omly

64, Which cne of the following was a focus
country of the “World Food India’, a
mega food event held in November 2017
in New Delhi?

fa)

Germany

b Japan

]
(dl

Denmark

Italy

| P.T.O,



65. FHE wEE dmm—uwm 2018 (e mah

=) wEElEr ) deart, Feafaies § @
T -4 T Fm 7

fa) TR
(b} TS
fe) irN

fd) W& TR

66. HEF HEeW 4 'E @ 4 HamEa w O

M Y e W= F o owd e (3
§iEm) wrEi FEEA W oEy e Y @
T = Feva T T = wgm Ry
T

fb) Tewz-HimEa

fed HH

fd) i Fmi

67. Wi ® Feiein 4 @ R sl 3, s

fomm wem % Bm PR (UNESCO)
:?mﬂ‘hﬁﬁmmﬁhz, 2017"
fa} TG HiE, TETEE

(b T i,

fc) i =, gt

(d} e wiE, FER
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68, Fefatem 1 @ few i w wm 3 'l ol

ufirr w9, 2017 # fonm A6 % fa
TarrEn T

fap =HR
[T

fc] =T i
fc} I

69, wia & wan A, Freafofen =t d @ 9w

ik iR

fal WTA % 9m 12 92 S=ome i
200 B2 =0T B

(b} WA W WRE (ame) § o5 whem
= g7 § 668 whem =mR dEEm g
e ¥

fc) WRA 1 WHE wR-UE ETE 7500 km
L]

(dl W wEwE, 2010-2020 #, =i
2020 % fu 300 MT TH 90 ) TF
w1 T T R

70, Frffas == A @ 9w od i &7

fa) T MTCR % 2016 3 wita gam

fb) 9WA 3 NSG ®i gemm F v 2016 §
UF AT wEe

fc) WFE 3 1996 § AWM MEEER W
ST WA (FETE) T B

fdl UpHER ¥ % wHEl 6 WEHE 95F
[CHOGM), w721 8 2016 § ¥ 1)




65. Which one of the fallowing States will

hosat the Mobel Prze Series—India 2018
[Science Impacts Life] Exhibition?

feg)  Gujarat
fb) Rajasthan
e} CGoa

(d) Madbya Pradesh

66. The Ministry of Communication has

recently launched a Pan India
schalarship programme for schoaol-
children ealled Desn Dayal SPARSH
Yojana' The objective of the scheme 18
to increase the reach of

faj sports
b philately
fo) music

fdf web designing

&7. Which one of the following temples of

India has won the UNESCO Asia Pacific
Award of Merit, 2017 for cultural
heritage conservation?

fa} Kamakhya Temple, Guwahati

fbl Sri Ranganathaswami Temple,
Srirangam

fc) Meenakshi Temple, Madurai

{d) Kedarnath Temple, Kedarnath

SPS5-D-XHI/49A

68, Which one of the following teams was

defeated by India to win the Women's
Hockey Asia Cup title, 20177

i} Japan
fb} China
fe)  Bouth Korea

jd} Pakistan

« Which one of the following statemenis

about India is mot correct?

fa} India has 12 major ports and about
ZO0 non-major ports.

B} 95 percent of India's trade by
volume and &8 percent by value are
moved through maritime transport,

fe) India has a coastline of about
TES0O0 km.

id} In the Maritirne Apgenda,
2010-2020, a target of 300 MT port
capacity has been set for the
year 2020.

TO. Which one of the following statements is

not correct?
fal India jeined MTCR in 2016,

fbj India submitted a formal
application for membership of the
N8G in 2016.

fc¢} Indis proposed the Comprehensive
Convention ar International
Terroriam in 19946,

(d} The Commonwealth Heads of
Government Meeting ([CHOGM) was
held in 2016 at Malta.
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71, WA & Giawe ¥ fratafies § 4 fam o &
72 faftn fem 7 % & dfefos, o o
wuE e w1 RE B ¥ wEEl A g
e % 15 witwE & st o af?

fa) o187 H@EE
fb  s7al Wi
e} 973 AEiwA

fet) ool T

72. wAEE TEEE & ofie & it 4, Peffie J
# wa-ma w8 e

1. % Wa weaEgq Wiven, swdm
A = W T b

2. 7w i wph dm & T o
Tt = AT wa b

3. qVFiE FE6E | W

4 fim m g2 | ww W= ad I g
fa) *=m 1 a3

by 1,24R3

fc) awm | w2

fd] a3
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73. wia & wan w7l o e e e

(et o weTE), W e sfef
on fwfim & a fol Ffiw (ag) e
(Fm W) 4 & e oW @ R
Frafefan 0 @ - 4

fa) W
{b) HFE
fe) i

id} e

74. T T, v e A we @ d oo afil

wiea R, W1 FEE, 2017 ® fbw b
- oy T, 3am, T Rw A
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Frle, 37 @ S B7

) I T
b uRE faEm
fe) T
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T1. Which one of the following Amendments

o the Constitution of India has
prescribed that the Councll of Ministers
shall not excesd 15 percent of total
mumber of members of the House of the
People or Legislative Assembly in the
Siates?

fal 9lst Amendment
fl BTith Amendment
fej 97th Amendment

fd] 9dith Amendment

T2. Which of the following about the role of

Indian Coast Guard 1% /are correct?

1. Indian Coast Guard has been
entrusted with the offshore secunity
coordination authority

2. Lead intelligence agency for coastal
and sea border

3. Coastal security in ierritorial

waters

Select the correct answer using the code
given below,

faj 1 and 3 only

fb) 1,2 and 3

fej 1 and 2 only

fd) 3 only

SPEE-D-XHI/4DA

aT

T3. Which one of the following is India's first

indigenously designed and developed
long-range subsonic croise  missiie
which can be deploved from multiple
platforma?
fa) Astra
fb)  Alash

o)  Mirbhay
{dl Shankbhnaad

T4. The Ministry of Power, Government of

India has recently constituted a
Committes to investigate the causes of
the accident that occurred on It
Movember, 2017 at Feroze Gandhi
Thermal Power Plant Ltd., Unchahar, in
Uttar Pradesh. Who among the following
15 the Chairman of the Commitbes?

fal Dr. L, D, Papney
fb) Shri Dhawal Prakash Antapurkar

fed  Bhri Subir Chakraborty

fd) Shri P. D, Siwal

75. In Movember 2017, an Indian short film,

The School Bag won the Best Bhort Film
Award at the South Asian Film Festival
heid at Montreal Who among the
following is the Director of the flm?

fa) Anurag Kashyap
{b} Dheeraj Jindal
fe} Bujoy Ghosh

fd] Bamvida Nanda
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T6. 99 2017 A, WRE # We He W =W A

ToaTm % B oA fiee TEL W s o
TRl wREf (ot R A,
2017 w1 =i 93w | 3% Fefafam 9 8
fra 1 9 s oifss fen mn ot

fa) 48 kg
fb) 51 kg
fcl 54 kg

fd] 57 kg

77. faw wm frma, 2007 W fewm (wE),

frafafas 4 4 9w 27
faj Tl wEed, dEm % fom ke

(bj WE ® T@-wE (VEE) fE F M
i #

() =, S = s F e

(d) e, i e g

7e. i deiten AfEmaln (gw), 2007 W

Taraen, v @ o BT
) Tl
(b} TEe THe TH
fc) 1= TETH

(e} ¥ Wi
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79. 'TEIE (Barbarian) T % WM ¥ ap §,

el w4 § 8 S9-m/8 7 38

1. TR 1 Y= ‘T (barbaros)’ # fm
T ¥, Few wd 3, w-dm

2. 1A #3898 W WE R i,
Ttem v et ¥ B A

4 g me gz W o w=oad I g
fa) e 1

fb) = 2

fe) 1 #w 29

fdf AaM1amadAa

go. frfin st @ @ Sw-m of = 27

fa) wE-w 3 TR W\ F fEm I
weaE, wimelr % wmw o d
m-TEmE e d R

(b) WE-T F AR, SE-HEW
fogiv, wiafe & o-gy & faalm &
HHA )

fc) TEW W, TRV F WU N9 FE W
T THTE TR A

fd) A & wa Tl = vaw o Tl B
& o¢ orR-min % fayrm & T
g & wfam )




T6. In November 2017, India’s MC Mary Kam

won the gold medal at the Asian
Boxing Championship, 2017 held at

T9. Which of the following statements about

the usage of the term "barbanan' isfare
correct?

Ho Chi Minh City in Vietnam, In which

one of the fbllowing categories was she 1. It is derived from the Greek word

dec P "harbaros’ which means |
non-Greek,
fal 48 kg 2. Eomans used the term for the
Germamnic tribea, the Gauls and the
it 51 kg Humns.
el 54 kg Select the correct answer using the code
given below.
fdy 57 kg
fa 1 only
77. Which one of the following is the theme of {2} 2 only

il Day, 20177
the World Secil Day, 20 fe) Both 1 and 2

fal BSoils and pulses, a symbel for life {cd) Neither 1 nor 2

{hi Caring for the Planet starts from

the Ground 80. Which une of the following statementa is

not correct?
fi Soils, & s0lid ground for life
identifies  the Suafi
doctrine of divine love as self-
annihilation with paralle]l passages
from Bhogavad Gila.

fal  Al-Biruni
fdl SBeils, foundation for family farming ‘

T8. Who among the following is the winner of (b According 1o
the National Badminton Championship
(Men), 20172

Al-Biruni, Sufi
theories of Soul were similar to
those in Patanjali's Yoga Sufra.

fc} The Hatha Yegic treatise Amrla
Kunda had lasting impact on
Sufism,

fa} Kidambi Srikanth

fb} H. 8. Prannoy

fd} Hujwiri's conversation with the
Yogis shows that he was impressed
with their theory of the division of
the human body.

fcl  Ajay Jayvaram

{d] Sai Praneeth
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83, Tl v % T few pag ¥ R 9

it

) AR
) TR
o) T

fed) TR
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Bl. Consider the following statement :

“So much is wrung from the peasants,
that ever dry bread is scarcely left to fill
their stomachs. "

Whoe among the fellowing European
travellers had made the above
statement about the conditiom of
peasantry in the Mughal Empire?

fa) Francisco Pelsaert

fb}  Francocis Bemicr

fel  Jean-Baptiste Tavernier

fed] Miccolas Manucel

B2. What is the name of the literary genre

developed by the Khojas who are a
branch of the [smalli sect?

fa) Ginan
fb)  Eyarat
fe) Raag
(d) Shahada

B3. Who was/were the 10th century

composer(s] of the Naloyire Divya
Prabandham?

fal Alvars
{b} Mavanars
fel  Appar

fd] Sambandar
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B4, Which one of the [pllowing is not

g comrect  ascending order of
commissioneéd ranks in the defence
forces of India?

fal  Lieutenant, Captairi, Major,
Lisntenart Calanel, Coalonel,
Brigadier, Major General,

Lisutenant General, General

(B} Flying Officer, Flight Licutenant,
Squadron Leader, Wing
Commander, Group Captain, Air
Commodore, Afr Vice Marshal,
Air Marshal, Air Chielf Marshal

fol  Flying Officer, Flight Lieutenant,
Squadron Leader, Group Captain,
Wing Commander, Air Commodore,
Air Vice Marshal, Air Marshal, Air
Chief Marshal

fd} Sub Lieutenant, Licutenant,
Licuterant Commander,
Commander, Captain, Commodore,
Rear Admiral, Yice Admiml,
Admiral

65. Which of the following statements about

Attorney CGeneral of India is/are not
correct?

1. He iz the first Law Officer of the
Government of India.

2. He is entitled to the privileges of a
Member of the Parliament.

3. He is a whole-time counsel for the
Government,

4, He must have the same
qualifications as are reguired to be
a judge of the Supreme Court,

Select the correct answer uaing the code
givenn below.

fa) 1,2 and 3
b 2 and 4

fe} 3 only
id) 1 only

| P.T.O.
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fa) WA # U= o a9 dfes @
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86. Under which one of the

Tollowing
Amendment Acts was Sikkim admittecd
inta the Union of India?

fm) 35th

jh) 36th

jg) 3Tth

{d) 38th

BT. Which ane of the following became & part

of China in 1987 following the principle
of ‘one country, two ayatema™

{a) Tibet
(b} Hong Keng
fe}  Xinjlang

e} Inner Mongolia

88. Which one of the following statements in

respect of the States of India is not
correct?

{a) Btates in India cannct haswe their
own Conatitutions.

b} The State of Jammu and Kashmir
has its own Constitution.

jc) States in India do not have the
right to secede from the Union of
India.

fd] The maximum number of members
in the Council of Ministers of Delhi
can be 15 percent of the total
number of members in the
Legislative Assembly,
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8%, Consider the follbowing statements about

Mational Wildlife Action Plan (MWAP) of
India for 2017-2031

1. This is the Third National Wildlife
Action Plan,

2., The NWAP is unique as thiz is the
first time India has recognized the
concerns relating to climate change
impact on wildlife,

3. The NWAP has ten components,

Which of the statements given abeve
is/are correct?

fa) 1 only

{5l 1 and 2 only

foj 2 and 3 only

(@) 1, 2 and 3

90. Growth (n production (in percent) of

which one of the following core
industries in India during the period
2015-2016 was negabive?

ja} Matural gas
jb) Refinery products
fei  Fertilizer

fd] Coal

| B.T.0.
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fb a1 3 2

fo) A 2 R 3

fd} FE 1
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01, eBiz iz one of the integrated services 93. Conszider the following statement :
projects and part of the 31 Mission

Mode Projects (MMPs] under the “4 sound body means one which bends
National e-Governance Plan of the itsell 1o the spirit and is always a ready
Government of India. eBiz is being instrument at its service.”
implemented under the puddance and . :

aegis of the Department of Industrial The above statement is attributed to
Policy and Promotion, Mimstry of

Commerce and Industry by faj Sardar Patel

(B Winston Churchill

fe/ Mahatma Gandhi
jbi Infosys Technologies Limited [dl Baden-Powell

fal Tata Consultancy Services

fef Wipro 94. Who among the following was the
founder of Phoenix Settlement?
fa) Mahatma Gandhi
bl B. R. Ambedkar
fo)  Rabindranath Tagore

fedl Swami Vivekananda

idf HCL Technologics

92, Which of the following statements about
the olive ridley turtles isfare correct?

1. They are the smallest and most
abtundant of all ses turtles found in

the world 98. Mame the platform used for ritual
. purposes by the kings of the
2. They live in warm waters of Pacific, Vijavanagara Empire,

Atlantic and Indian Oceane, jaj Maha . Dibba

3, The Coromandel Coast in India is b Lotus Mahal
the largest mass nestng site for the
olive ridley turtles. fe)] Hazara Eama
fdl Virupaksha

Select the correct answer using the code

given below, 86. The idea of Farr-i leadi’, on which the
Mughal kingship was based, was firsi

developed by which one of the following
fa] 1,2 and 3 Sufi saints?

fh 1 and 2 only fa) Shihabuddin Suhrawardi
fb} HNizamuddin Auliva
fei  Thn al-Arabi

fd) 1 only {d) Bayazid Biztami

fe) 2 amd 3 only
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O7. Which Buddhist text contains an account

of the Maurvan Emperor Ashoka?
fa) Vinaya Pitaksa

(b} Sutta Pitaka

ol Ablidhammo Piaka

fa)  Mehavomsa

98. Which one of the following statements

about Buddhist Stupas in India s nog
correct?

faf Ashoka plaved an imporiant role in
popularizing the Stupa cult.

[k} They were repositories of relica of
Buddha and other monks.

fel  They were located in rural areas.

fd] They were located close to trade
routes.

99, Which one among the following States of

India has the largest number of seats in
its Legislative Assembly?

fe) West Bengal

{b} Bihar

fe} Madhva Pradesh
fd} Tamil Nadu

100. Which of the following statements about

the Ordinance-making power of the
Governor isfare correct?

1. It is a discretionary power,

2. The Governor himself is not
compefennt to  withdraw  the
Ordinance at any time.

Select the correct answer using the code
given below,

fa] 1 only

fb] 2 only

fe) Both 1 and 2

fd] Meither 1 nor 2
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« Which one of the following events is not

correctly matched with the year in
which it happened?

fm) Imauguration of the SWIFT system
af electronie interbank furd
transfers worldwide—1085

Conclusien of the U ay RBound
ragnay
of GATT—1504

fe] Imauguration of the World Trade
Orrganization—19595

jd) Establishment of the firat

wholly elecironic stock exchange
(Nasdag)—1971

102. Consider the following statements about

Indo-Tibetan Border Palice (ITBP :
1. ITBP was raised in 1962,

2. ITBP is basically a mountain
trained force.

3. ITBF replaced Assam Rifles in
Sikkim and Arunachal Pradesh in
2004-2005 for border guarding
duty.

4. ITBP presently has 52 service

battalions.

Which of the statements given above are
correct?

fal 1, 2 and 4 only
M 3 and 4 only
fef 1,2, 3 and 4

fedf 1, 2 and 3 only

| B.T.O.
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103. Which one of the following is net an

International Human Rights Treaty?
fal International Covenant on Civil and
Political Rights

(& Convention on the Elimination of
All Forms of Diacrimination against
Women

fe} Convention on the Rights of
Persons with Disabilities

fdj Declaration on
Development

the Right to

104. In the contexi of elections in India, which

one of the lollowing is the correct full
form of VWPAT?

fzl ‘Voler Verifiable Poll Audit Trail
fb) Voter Venfving Paper Audit Trail
fe) Woler Verfiable Paper Audit Trail

{dl Woter Verifiable Paper Account Trail

105, Which one of the [ollowing is mot an

objective of the Pradhan Mantri Krishi
Sinchayee Yojana [PMESY)?

fa) To achieve CONYVErgence of
investment in irrigation at the field
lewe]

fb) To expand cultivable area under
irrigation
fe) To improve on-farm water use

efficiency to reduce wastage of
water

(d] To protect farmers against crop
failure due to natural calamities

SPSS-D-XHI/49A

106. Which one of the following statements

about
correct?

Niryat Bandhuo Schemes® is

ja} It is a scheme for mentoring first
generation entreprensurs,
ib) It is a scheme for crop protection.

fel It is a scheme for the vulnerable
section of the society,

{d} It is a scheme for monitoring raral
poor.

107. Which cne of the following statements

about the Deen Dayal Upadhyayn
Orameen Kaushalya Yojana (DDU-GEY)

15 nmot correct?

fal) It is a placement-linked skill
training programme exclusively for
rural girls.

B It aims to convert India's
demographic surplus into a
demographic dividend.

jci The scheme aims to benefit mone
than 55 million poor rural folk.

dl It i a generational poverty
alleviation programme,

108. Where is Hambantota Port located?

fa) Iran
fb) Sri Lanka

fo]  Japan
fd} Pakistan

| P.T.0,
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109, The projects under Coastal Berth Scheme
of the flagehip Sagarmala Programme

are distributed over how many States?
fa) Eight

oy Ten

fci  Twehe

{dl Fourteen

110. Which one of the following statements
gbout the Mational Adaptation Fund For
Climate Change is mot cormect?

fal The Ffund i3 meant Lo assist
national and State level activities
to mest the cost of adaptation
measures,

{b) This scheme has been taken as a
Central Sector Scheme.

fo}  The Indian Council of Agricultural
Ressarch i= the national
implementing entity for the fund.

jd] The scheme has been in force since
2015-2016,

111. ‘SAMPRITI-2017" is & joint military
exercige Batween armed forces of India
and

fa] Bhutan

b Bangladesh
je) Pakistan

fd} Myanmar

112. The judgement of the Supreme Court of
India in the Vishakha Case pertains to

ja) sexual harassment in the work-
place

[b) Sati
lel  dowry death
fd} rape
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113, The first BRICS Summit, after the

inclusion of South Africa, was held at
fa) Brasilia

fb} Sanya

fel  Yekaterinburg

) Durban

114. Who deciphered the Broheu and

Kharoshthi scripts?

fa) Piyadassi

i Colin Mackenzic

{e}  Alexander Cunningham

fd) James Prnaap

115. Which of the Rllowing isfare the

featurc(s) of the Brahmadeva Crants
during ¢ 600-1200 AD?

1. Their creation meant i
renunciation of actual or potential
sources of revenue by the State.

2. These grants could vary from a
small plot to several villages.

3. Most grants were made in unsettled
Areas,

Select the correct answer using the cods
given below,

faj 1 only

fb) 2 and 3 only
je) 1 and 2 only

el 1, 2 and 3

[ P.T.O.
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116. Who is the author of Manimetalo?

fa)  Kovalan
fb) Sathanar
fe) Tlange Adigal
fd} Tirutakkatevar

117. Which one of the following siatements

about the Elephanta Island is correct?

fa) 1t was given its name by the British

after a large elephant structurs
located there.

(b) It contains one large cave.

fed 1t is well-known for a spectacular
carving of Vishnu descrbed in the
Fishnudharmolttara Purana

e [t is associated with the Pashupata
gect.

118. Which of the following statements about

Sir Sved Ahmad Khan is/are correct?

1. He argued that Indin was a
federation of ethnic communities
hased on common descent.

2. His philosophy was very similar
o that of the Indian Mational
Congress,

3. He imagined India as a Nation
State based on individual citieen's
rights,

4, The curriculum at the
Mohammedan Anglo-Oriental
College blended Muslim theology
and European smpiricism,

Select the correct answer using the code
given below,

faj 1 only
fb 2 and 3

fef 3 only
fd 1 and 4

SPSS-D-XHI/49A

119. Consider the following statements about

impact of tax :

I. A tax i8 shifted forward o
consumers if the demand ia
inclastic relative to supply.

2, A tax 18 shifted backward 1©

producers if the supply is relatively
more inelastic than demand.

Which of the statements gven above
18 are correct?

fa) 1 only

(b} 2 only

fe) Both 1 and 2

{d] MNeither 1 nor 2

120. According to the law of diminishing

marginal utility, as the amount of a
good consumed increases, the marginal
utility of that good tends to

@) improve

fbl diminish

fe) remain constant

fcdl  first diminish and then improve

| P.T.O.
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